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SET -A

General English
Q1. Identify the tense of the following sentence: I am | Q10. A part of a word that can be pronounced separately?
riding. A. Particle
A. Present perfect tense B. Sibilant
B. Present continuous tense C. Syllable
C. Past continuous tense D. Letter

D. Future continuous tense

Q2.Select the most appropriate antonym of the given
word: Abundant.
A. Plentiful

B. Ample B. Brilliant
C. Scarce C. Inventive
D. Bore D. Hard-working

Q11. Choose the word which best expresses the meaning
of the given word.” Diligent”
A. Progressive

Q3. Select the most appropriate synonym of the given
word: Boisterous

A. Quire

B. Restrained

C. Exuberant

D. Detailed

Q12. Which sentence is a complex sentence?
A. The sun was shining.
B. The dog barked and the cat hissed.
C. When the bell rang, the students left the classroom.
D. I ate pizza and drank soda.

Q4. What is the correct form of using an auxiliary in a
sentence?

A. Main verb + subject + auxiliary verb + object

B. Main verb + subject + object + auxiliary verb

C. Auxiliary very + subject +main verb + object

D. Subject + auxiliary verb + main verb + object

QI13. Select the most appropriate meaning of the given
idiom. - Rolling in Money

A. Borrowing money liberally

B. Very rich

C. Wasting a lot of money

D. Spending more than income

Q5. A snake in the grass means.
A. Unrecognizable danger
B. Secret or hidden enemy
C. Unforeseen happening
D. Irreliable person

QI14. Out of the given four words only one is spelt
correctly. Find the word that is correctly spelt.

A. Nauseous

B. Neccessery

C. Napthew

D. Neise

Q6. The movie started when I reached

the cinema hall.

Q15. Which option contains an intranstive verb?
A. Read

B. Swim
A. has C. Go
B. had D. Understand
C. Have
D. Had been
Q7. Neither of them courage to go. Q16. Which one of the following words is a verb?
A.ls A. Success
B. Have B. Succeed
C. Has C. Successful
D. Are D. Successfully
Q8. The dog, along with the cats, in the garden. Q17. Select the sentence with the appropriate use of
A. Play preposition.
B. Plays A. It has been raining till morning.
C. Playing B. It has been raining from morning.

D. Are playing

C. It has been raining by morning,.
D. It has been raining since morning.

Q9. Active Voice of “He was being chased by the dogs”.
A. The dogs are chasing him.

B. The dogs chases him. A. -ism

C. The dogs chase him. B. -ish

D. The dogs were chasing him. C. -ment
D. -gram

Q18. Match the correct suffix, for the given root word
‘cardio’.




General English

Q19. Find out the correct prefix: editor
A. Joint
B. Bi
C. Bye
D. Sub

Q23.Select the sentence with the appropriate use of
preposition.

A. I came the day of yesterday.

B. I came the day before yesterday.

C. I came the day on yesterday.

D. I came the day over yesterday.

Q20. One who does not easily believe whatever is told.

Q24. Find the correct prefix: minister

A. Incredulous A. Over
B. Credulous B. Ex
C. Misanthrope C. On
D. Cosmopolitan D. Bi
Q21. Which sentence is in the passive voice? Q25. Which one of the following words is an adjective?
A. The fence was painted by her last summer. A. Enthuse

B. She painted the fence last summer.
C. The fence was painted for her last summer.
D. The fence were painted by her last summer.

B. Enthusiastic
C. Enthusiast
D. Enthusiasm

Q22. Select the word with the correct prefix.
A. Antelope
B. Antique
C. Antisocial
D. Antonym

Basic Mathematics

Q26. The length of the chord of a circle, of radius 13 cm,
at a distance of 5 cm from the centre is
12 cm

18 cm
20 cm
24 cm

Sow»

Q30. The ratio of the measure of the three angles of a
triangle is 2: 3: 4. The measure of the longest largest angle
is

A. 80°

B. 60°
C. 40°
D. 180°

Q27. A wire of length 86 cm is bent in the form of a
rectangle such that its length is 7 c¢cm more than its
breadth. Find the length and the breadth of the rectangle
so formed.

A. 25cm, 16 cm

B. 25cm, 14 cm

C. 24cm, 18 cm

D. 25cm, 18 cm

Q31. The length of a side of a regular hexagon is 3 cm.
The length of the diameter of its circumscribed circle is
equal to

3cm

5 cm

6 cm

oOowp

7 cm

Q28. Two sides of a triangle are 5 cm and 1.5 cm. The
length of the third side cannot be

Q32.A pair of angles is called linear pair if the sum of two
adjacent angles is

A. 3.6 cm A. 90 degree

B. 4.5cm B. 180 degree

C. 38cm C. 230 degree

D. 3.4 cm D. 360 degree
Q29. The sides of a triangular field are in the ratio 3:4:5. | Q33. The measure of each angle of a regular octagon is
The perimeter of the triangular field is 144 m. Find the A. 120°
longest side of the field. B. 60°

A 15m C. 135

B. 30m D. 108

C. 60m

D. 90m




Basic Mathematics

Q34. Two sides of a triangle are 13 cm and 14 cm and its semi
perimeter is 18 cm. Then third side of the triangle is

A. 12 cm
B. 11cm
C. 10cm
D. 9cm

Q43. A 35 cm line segment is divided into two parts
in the ratio 4:3. Find the length of each part.
A.15cm, 25 cm

B.20cm, 15 cm
C. 25cm, 30 cm
D. none of these

Q35. Area of the rhombus is 90 cm’ one of its diagonals
measures 10 cm. Length of the other diagonal is
A. 18 cm

B. 36 cm
C. 80 cm
D. 9cm

Q44. 10 boys can ditch a pitch in 12 hours. How long
will 8 boys take to do it.
A. 9 hours 56 min

B. 15 hours
C. 6 hours 40 min
D. 13 hours 10 min

Q36. The parallel sides of a trapezium are 32 cm and 20 cm and
the distance between them is 15 cm. Find the area of the

trapezium.
A. 290 cm’

B. 390 cm’
C. 390 m’
D. 400 m’

Q45.Find the measure of the angle which is
complement of itself
A. 30°

B. 90°
C. 45°
D. 180°

Q37. The exterior angle of a triangle is equal to the sum of two
A. Exterior angles

B. Interior angles
C. Interior opposite angles
D. Alternate angles

Q46. An angle measuring 270 degrees is
A. An obtuse angle

B. An acute angle
C. A straight angle
D. A reflex angle

Q38. The sum of two complementary angles is

Q47. What do you mean by a regular quadrilateral?

A. 180° A. A rectangle

B. 360 B. A rhombus

C. 90° C. A square

D. None of these D. A trapezium
Q39. A triangular pyramid has .............. triangular lateral faces | Q48. Find the perimeter of a regular hexagon having
and ................ edges. each side equal to 6.5 cm.

A. 3,4 A. 390 mm

B. 3,6 B. 360 mm

C. 3,8 C. 350 mm

D. 4,6 D. 380 mm

Q40. An isosceles trapezium has
A. Equal parallel sides

B. Equal nonparallel sides
C. Equal opposite sides
D. None of these

Q49. A terminating decimal is
A. Natural number

B. A whole number
C. A rational number
D. An integer

Q41. A square has
A. One line of symmetry

B. Two lines of symmetry
C. Three lines of symmetry
D. Four lines of symmetry

Q50. Which of the following has no end points?
A line segment

A ray
A line
None of these

oSowp

Q42. How many lines can be drawn passing through a given
point?

One only

Two

Three

Unlimited number

oOow >




Basic Science

Q51. What is the common name for calcium hydroxide
solution?
A. Quicklime
B. Slaked lime
C. Limewater
D. Baking soda

Q61. The mirror used in car rear-view mirrors is:
A. Plane mirror
B. Concave mirror
C. Convex mirror
D. Cylindrical mirror

Q52. What is the molecular formula of methane?
A.CH,
B. C,Hs
C. C;Hg
D. C4H10

Q62. DNA duplication occurs during:
A. Mitosis
B. Meiosis
C.Both Aand B
D. None

Q53. Which of the following contains the carboxyl

Q63. Which blood vessel carries oxygenated blood?

(-COOH) functional group? A. Vein
A. Ethanol B. Artery
B. Ethanoic acid C. Capillary
C. Methane D. None of these
D. Propane

Q54. What is the color change when iron rusts?
A. Blue to green
B. Silver to brown
C. White to black
D. Red to yellow

Q64. When light enters a denser medium, it bends:
A. Away from the normal
B. Toward the normal
C. Remains undeviated
D. Gets dispersed

Q55. Which part of the brain controls voluntary actions?
A. Medulla
B. Cerebellum
C. Cerebrum
D. Hypothalamus

Q65. The core of an electromagnet is usually made of:
A. Copper
B. Aluminum
C. Soft iron
D. Plastic

Q56. What is the main function of the spinal cord?
A. Digest food

Q66. Which of the following is an indicator used in acid-
base titration?

B. Pump blood A. Turmeric
C. Transmit nerve signals B. Phenolphthalein
D. Filter waste C. Vinegar
D. Soap
Q57. In a parallel circuit, the total resistance: Q67. Which hormone is responsible for lowering blood
A. Increases sugar?
B. Decreases A. Glucagon
C. Remains the same B. Thyroxine
D. Becomes infinite C. Insulin

D. Adrenaline

Q58. The process by which variations are inherited over
generations is called:
A. Evolution
B. Adaptation
C. Heredity
D. Mutation

Q68. Which planet is known as the ‘Red Planet’?
A. Venus
B. Mars
C. Jupiter
D. Mercury

Q59. Fertilization occurs in which part of the female
reproductive system?
A. Ovary
B. Fallopian tube
C. Uterus
D.Cervix

Q69.The time taken for one complete oscillation is called:
A. Frequency
B. Speed
C. Time period
D. Amplitude

Q60. Photosynthesis takes place in:
A. Mitochondria
B. Chloroplast
C. Nucleus
D. Ribosome

Q70. The unit of work is:
A. Newton
B. Watt
C. Joule
D. Ohm




Basic Science

Q71. What is the term for crossing between genetically Q74. Which of the following is not an allotrope of
different plants? carbon?
A. Cloning A. Diamond
B. Mutation B. Graphite
C. Hybridization C. Fullerene
D. Fertilization D. Charcoal
Q72. What is the bond angle in methane (CHa4)? Q75. Which of the following is the lightest element?
A.120° A. Hydrogen
B. 90° B. Helium
C. 109.5° C. Lithium
D. 104.5° D. Oxygen
Q73. Which is a non-metallic conductor of electricity?
A. Diamond
B. Graphite
C. Sulfur
D. Iodine

General Awareness /Knowledge

Q76. When did the present Israel Gaza war started
A. 5™ October 2023
B. 6" October 2023
C. 7™ October 2023
D. 8" October 2023

Q82. Which amendment in Indian Constitution have
established Panchayati Raj Institution?

A. 71% Amendment

B. 72" Amendment

C. 73" Amendment

D. 74™ Amendment

Q77. Under “Meri Mati Mera Desh” campaign............
is unveiled everywhere as a tribute to our fallen heroes
and a testament to their unwavering sacrifice

A. Shilaphalakam

B. Veera Smriti

C. Shaheed Smarka

D. Kalash Smriti

Q83.Which is the oldest mountain range in India
A. Arravalli

B. Nilgiri
C. Himalaya
D. Western ghats

Q78. The currency of Sweden has been known as

Q84. Who wrote Romeo and Juliet?

A. Rand A. Leo Tolstoy
B. Krona B. William Wordsmith
C. Leone C. William Shakespeare
D. Franc D. W.H Ohms
Q79. UIDALI stands for Q85. Permanent Secretariat to coordinate the

A. Unique Identification Authority of India
B. Unique Identity Authority of India

C. Unique Identity Assessment of India

D. Unique Icon Authority of India

implementation of SAARC programme is located at
A. Colombo
B. Dhaka
C. New Delhi
D. Kathmandu

Q80. Ustaad Amjad Ali Khan associated with which
nstrument?

A. Sitar

B. Veena

C. Tabla

D. Sarod

Q86. Professor Amartya Sen is famous in which of the
fields?

A. Biochemistry

B. Electronics

C. Economics

D. Geology

Q81. Pandit Bismillah Khan was associated with which
instrumental music

A. Sitar

B. Flute

C. Sarod

D. Shehnai

Q87. The famous “Pochampally” weaving and dying art
form is from

Telangana

Andhra Pradesh

Karnataka

Tamil Nadu

oSow»




General Awareness /Knowledge

Q88. India’s highest gallantry award is
A. Bharat Ratna

B. Veer Chakra
C. Shoorvir Chakra
D. ParamVir Chakra

Q95. Who wrote the book “Satanic Verses”?
A. Arundhati Roy

B. Khushwant Singh
C. Salman Rushdie
D. Shobha De

Q89. The famous writer Mahasweta Devi was associated
with which language

Hindi

Urdu

Bengali

Odissi

oowp

Q96. Who discovered Insulin ?
Laennec

Pasteur
F Banting
Z Jansen

oSawp

Q90. The Mesolithic tools found in Chotanagpur,
Vindhyas etc are used before

A. 10000 BC

B. 3000 BC

C. 2500 BC

D. 6000 BC

Q97. Which place is called “Land of midnight Sun”?

A. Sweden
B. Finland
C. Alaska

D. Norway

Q91. When was the first battle of Tarain in which
Prithviraj Chauhan defeated Muhammed Ghori?
A. 1194

B. 1193
C. 1192
D. 1191

Q98. What is known as China’s sorrow?

A. Beijing

B. Shezwan
C. Hwang Ho
D. Hunua Hoi

Q92. Between which two places the first ever Railway —
Train operated in India?
A. Bombay to Thana

B. Bombay to Nashik
C. Bombay to Shirdi
D. Bombay to Panji

Q99. Currency of Iran?

A. Euro
B. Rupiah
C. Rial
D. Dirham

Q93. Who was the first Indian to get Pilot’s license?
Batukeshwar Dutt

CR Das
JRD Tata
Ardeshirirani

Sow»

Q100. Which city of USA is known as windy city?

A. Alaska

B. New York

C. San Francisco
D. Chicago

Q94. Who was the first Indian women to reach Mount

Everest?
A. Kiran Seth

B. Gauri Sherpa
C. Bachendri Pal
D. Kirti Saha
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Q26. #z & 5 HHT T T 9%, Bsar 13 a6/ it UF a6 | Q32. FIUT T Uk SIS &l L& ATl gl S1av g I &l
& FIS Al AdTE FAT G ST V07T T T ..o

A. 12cm A. 90 degree

B. 18 cm B. 180 degree

C. 20cm C. 230 degree

D. 24cm D. 360 degree
Q27. U I i @aTs 86 FHT Il g, ST UF o3 d & &9 | Q33. UF HATHT STTHIT o T FI0T T AT ...
T 2t 2, S F T o Tl serd & 7 3nfr A 120°
AT B AT T FTS 3T ATSTS T IqT A0 E' ?(3)50

A. 25cm, 16 cm D'. 108°

B. 25cm, 14 cm
C. 24cm, 18 cm
D. 25cm, 18 cm

Q28. TF 9T & T Te7 5 FHT fiT 1.5 Y g1 Arar

TTF T AATS Tl al THAT G v
A. 3.6cm
B. 45cm

C. 3.8cm
D. 34cm

Q34. TF 9T F 2T TeT 13 FHT 3T 14 FHT ¢ fiT THhT

aref ifer 18 |HT g1 e e T T 987 § oo
A. 12cm
B. 11cm

C. 10cm
D. 9cm

Q29. U= FaofT & & AT 3: 4: 5 % I | 2
Breprf o= it aifer 144 dex 81 4= #7999 a0
T G|
A. I5m
. 30m

B
C. 60m
D. 90 m

Q35. Rhombus FT &= 90 cm 2 § T8 &0t § & Us

10 FHY ATIAT 21 3= ot it AaTs L
A. 18 cm
36 cm

B.
C. 80 cm
D.

9cm

Q30. T ST & T HIUIT 6 JIT HT AT 2: 3: 4 5

Q36. TF U F TR Te7 32 FHY ofiw 20 FHAT E

A A TIH T2 FHI0TFH AT ..o ST Iee a1 1 4T 15 &Y g1 US| & & el &7 qaT

A. 802 T

B. 60 A. 290 cm’

C. 40° B. 390 cm’

D. 180° C. 390 m’

D. 400 m’

Q31. TF A oA & uw gy fir 4 3FHTE1 | Q37. UFH A T AR RO AT F AN FH I E ...
THF TATITT TheT o =ATH il 4TS ... FAETE A. AT FIT

A. 3em B. Sfy Fr

]é. écm C. sifr S Fr

. cm

D. 7cm D. =T FIr
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Q38. I ITF HIT T AN FAT &

Q45. FTIT FT AT §& ST &a9 6 TH ©

A. 180° A. 30°
B. 360’ B. 90°
C. 90° C. 45°
D. =9 ¥ FI< Aal D. 180°
Q39. TF FErfiy Ut & L LAY T | Q46. TE 270 It /1O AT FO g
R | L edges g A. TF obtuse T
A. 3,4 B. U acute FIT
B. 3,6
C 3 C. T e o
D. 4.6 D. w= o o
Q40. TF HATBATE SURTIH oo g Q47. TF FRafoa Fqs & SrTaT 7T Hadd 272
A. GHTT FHTEGC 97 A. T g
B. S@Y AAIAA 8T B. T& rhombus
C. s¥ra faTha wer C. T& a9
D. =7 & #1E 78t D. usF guforaH
Q41. TF T H.oovoe g Q48. TF 6.5 HHT & FLTAL To4T T&1 AT HATHT TTHT
A. THEIdT 1 T g £ gffer =1 war s
B. g9=qqT it =7 95t A. 390 mm
c ren e o
D. THEYAT T 9T qi<rat '
D. 380 mm
Q42. Tt faw o &g & o areft fhadt aredt &7 | Q49. UF JHIH AT ... g
T ST TFhaT 872 A. YT HedT
A. FaA TH B. T T §&AT
B. &frar C. U ToheTd HE&AT
C. = D. quits
D. sIHaT "
Q43. TF 35 FHT ATF @ 4: 3 F AqUTT § T 900§ | Q50. Fwferfaa § 7 e v sifaw g =gt 82
T g1 s ar it =TS FT 9T ) A. TF AT2A G
A.15cm, 25 cm B. Q?F%
B. 20 cm, 15 cm
C. 25 cm, 30 cm C. T A=
. 7t & 7% D. ¥ & 1< et
Q44.10 =% 12 =< | O &1 &g gFd g1 8 A=Hi &l
Tg A § TohaeT T80T e
A. 9 = 56 fae
B. 15 =<
C. 6540 A=
D. 13 == 10 fome
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Q51. Ffcaaw grzsiFTze & forw g 918 F7 872

A. TFererTEH

B. TFE @TH
C. AT FT 9T+T
D. st AT

Q57. TF AHHTAY e §, FT TTa<rer

D. sq gr Jmar g

Q52. YA =T AT A FAT 572

Q58. o aiwhar & difza ux Aty g &

g-glﬁ et 8, S FETATAT S e
c o A e
D. C4Ho B. sIqgeT
C. smatoreRar
D. Ieafiaad
Q53. fFaferfeaa & & frad wretfase ((COOH) Q59. [At== 7IRZET Tt yorTet & e e &
FTATHF THE T2 grar a?
A. TIATT A. =TT
B. mutfR= ufie B. HAITae =&
C. #raw C. ot
D. i D. frar
Q54. AT 3 ST & 9G¥ 7 AT Iaa grar 872 Q60. ST T ............ ¥ grar &
A. T T LT HT A. wrEErRifegaT
B. ffeax g ars B. FARIATE
C. T%Hg F T 37 HT C. 1=
D. @t & drer D. Tr=amE

Q55. wfeaeh 7 Fi= a7 fZeaT @z Fwrt a1 Fata
FLAT 872

A. g

B. #fvaew
C. IH

D. grursemy

Q61. F¥ RE-= ez & 9T ot ST AT
FIT
. AR

E
4

Q56. Tz #T ZZT F7 T=7 F1F 747 €2

A. STEEE 2

B. 9f97T =&

C. et Hehal il HATIT FL
D. fthee< sqtare
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QG63. FIT T T ATIGHT ATFE ST I3k Th of STl 872 Q70. FH AT THEE .......
A TH A. I
B. €wT B. ame
C. e C. S
D. =8 & FE 7l D. &\
QG64. STa THTT T T HILAH § T4 FAT g, al Tg Q71. SATTATF T & ST -3 Gl F J1= T
............. HqFAT S T 6 oTT o3 AT 87
A FJTETE § T A. FAET
B. ATHT #T &T B. Icaf¥ad+
C. F=Taf®Iq Tgar g C. &Y
D. Az -feaz grsmar g D. o=
Q65. TF TAFEIHIE FT I ATHATL I¥ TAT AT § Q72. #1919 (CH.) & Tive T #7471 87
A FT A. 120°
B. TegHitaw 2:?89.?
C. 7XH Alem D. 104.5°
D. wAT*e®

Q66. Feferiea & & 9 |7 UF Hohde g e ST

Q73. AT T U AT-Hforh FgaFe Hid a7 872

URRE-a9 SAqATIA | 3T Srar g2 A =T
A. goat B. Tz
B. wATewfer C. HoHh
C. = D. s
D. HTE
Q67. T STHIT Tl FH FX % (oIT i &7 grai e 82 | Q74. aforfad § & F19 F1a &7 sfided Tai 8?2
A. TTEFEH A =T
B. emartaEe B. IFrEe
C. qfe= C. Faid
D. UgATATEA D. ATHA

Q68. 7| Tg FT ' ' F T § ST S1aT 82
A FEH
B. HTUT
C. =qfuex

D. 4

Q75. MaTIET & & il qa9 goal acd 872

oo w >

Q69. TF I Zre  for o = a9 ... FgT ST 2
A. srafr
B. wi=
C. srafy
D. ™=

10




T SIRTEHAT /AT

Q76. ATHTT THALTSA ITSIT qF Fdl L& AT
A. 5 ¥aT 2023
B. 6 srFza¥ 2023
C. 7 9Fza¥ 2023
D. 8 9Fza¥ 2023

Q82. ATLA T |iem § fohe Femrer T 9=Tadt TIo7 9T
#¥ TITIET Y g7

A. 7137 gera_

B. 72 3T Hery+

C. 73 & gerred

D. 74 3 Femree

Q77. "FEY ATET AT Z90" ATHATT o6 TG oo TATY
AT 6 TTT T AT 3T ITeh g ATIaTd o (o
T THIATATHT & €9 H g¥ g A1 Fham 1w g

A. fTEAEH

B. #RT =M

C. 9BIT THTHT

D. e Fd

Q83. FIT AT § HaH [T 94d JadAT g
A. T
B. fAarRrey
C. RRure
D. 9% =T

Q78. TS &l HZT & ........ o ATH " STET SI7aT g

Q84. TTHAT 3T [ferae Ht FgrT e forei?
A. forn sieeta
B. faferw agafay
C. faferw demfiae

D. T U A+

Q79. UIDAI T &9 ¢ ........
Unique Identification Authority of India

Unique Identity Authority of India

Unique Identity Assessment of India

o N w >

Unique Icon Authority of India

Q85. SAARC FTIHY F FTAT-ad & TG % forw

o0 w»
o,
i

Q80. IFATE THSIE AT @I v TN ATed= F 2 872
A
AT
CEE
GRS

o0 w»

Q86. ITHAT TH A o & § Iig 272
EIRIEIT L]

ERECUREL]
ERLIC)
. T o

o0 w >

Q81. dea ftreae am e amr s fa A= o

A
B.
C. M=
D

Q87. IT8E "Tr=r e AT AT ST AME ®IH ... g
FAITAT

AT TReT

FeTeh

GIEEEIE

el

o0 w >
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T SIRTEHAT /AT

Q88. T FT FATg ATAT [TEFIT &

Q5. fF&+ I&a% “ Satanic Verses” fordt off 2

A. ST Tar A. &g T
B. =% B. guad fHig
C. e 9% C. TAHTT w9&T
D. TTHARX TF D. dmETe
Q89. TTHF T@® HZTHAAT JAT el ATHT | [ o ? Q96. Tohe THf T @ISt T ?
A B& A @9 F
B. 3% B. dm&X
C. arett C. uwafemT
D. sifes D. € Swq
Q90. BT ARTYX ¥ fEeas o & uTw I a1t et | Q97. fovm =ome i1 " Hawr=it T Tt ¥ s[fA" FgT SIrar
STHIT FT TAM ............ EECRERIRSIIE] a7
A. 10000 =T 74 A, w=T
B. 3000 £&T 7F B. fels
C. 2500 28T & C. oaTeaT
D. 6000 =T & D. A
Q91. AT Fif Tt ASTE Fd gs ToreH TSI AIZIH Q98. FAT 9 F T F ®T § AT SATAT 872
HET T HET T g2 T A. #ifST
A. 1194 B. draT
B. 1193 C. wxa
C. 1192
D. 1191 D. gIAER
Q92. ITLT § TgeAT a1 I & ... q¥ HATeId & s oA7? Q99. T FTHAT ..........
A. FiFT T AT A T
B. ¥l ATHH B. =T
C. Ttz forst C. fam=
D. afee T aesit D. fewzw
Q93. ITIAE FT ATSHH I ATAT TZAT ATLAT Tl AT ? Q100. T UHF T e T FI AT Rl & & H T
A. FZFET T STar g ?
B. Hrama™ A. SATERT
C. ST & g arer B. =I=i®
D. ST C. & whiferesr
D. ferwmm

Q94. AT TALEE TF Tga ATAT Tgell ATLA T HigaT i =?
. o Es

Y Qo

. TR 9T

. it TET

o w >

12




13



Dr.B..R. Ambedkar Institute of Technology

Common Recruitment Exam for the Group-C Posts DCRA/Swacper/Peon/Watchman
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